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Mon 28th  N-S
1st
Tomas & Per And..
57%
2nd
Jeremy & Sean
57%

E-W
1st
Gerard & Derek
68%
2nd
Hans V & Guttorm
63%

Wed 30th 

1st
Lars B & Tomas
60%
2nd
Bob P & Nick
60%

Fri 1st    

1st
Jan & Terry
62%
2nd
Per And... & Ivy
61%
Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A partner opens 2♣ and you bid 2♦. Partner then
bids 2NT (22-24 balanced), what do you bid?

♠ K76
♠ 1076
 
♥ 10862
♥ K76
With Hand B partner opens 1♣ and you bid 1♦. Partner then
♦ 9
♦ KJ942
bids  1♥, what do you bid?
♣ K8654
♣ 104
Hand C
Hand D
With Hand C you are in 1st seat, what do you open?
♠ AKQ8
♠ 2
With Hand D you open 1♣ and partner bids 1♠.
 
♥ K74
♥ Q1063
(a)
what is your rebid?

♦ 1082
♦ AK65
(b)
suppose you choose 1NT and partner bids 2NT, 
♣ 976
♣ A543

do you bid 3NT or pass?
Bidding Sequence Quiz

E
2♣
pass
2♦
pass

 

2NT
pass
3♣



What is 3♣?
F
1♥
pass
1♠
pass

 


3♦
pass
4♥



Is 4♥ a strong bid or weakish?

G
1♠
pass
2♥
2NT


What is 2NT here – natural or UNT for the minors?
H
1♠
pass
1♠
1NT


What is 1NT here – natural or UNT for the minors?

J
1♣
1♠
dbl


dbl is negative, but does it show ♥’s and ♦’s or just ♥’s?
Current club championship standings

	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5

	1

2

3

4

5

6

7

8

9

10
	
	637.9 Per Andersson
633.6 Hans Vikman
624.0 Lars Broman
618.4 Janne Roos
610.8 Paul Quodomine
600.3 Tomas Wikman
600.0 Bob Short
594.6 Gerard Hardy
591.1 Paul Scully
591.1 Bengt Malmgren
	332.2 Per Andersson
326.2 Hans Vikman
321.7 Lars Broman
317.6 Janne Roos
314.5 Bob Short
313.8 Paul Quodomine
312.2 Gerard Hardy
310.9 Bengt Malmgren
310.0 Derek Tyms
309.7 Jeremy Watson


Stayman over 2NT




Board 23 from Monday 28th March

‘Everybody’ knows about Stayman, and I assume that everybody knows that it is also applicable over 2NT – and also 2♣ followed by 2NT? But it seems not – as no less than four pairs out of six failed to find the good 4-4 ♥ fit on this deal.
Dealer:
♠ 1053



Table A
East
♥ 74

West

North
East(A)
South
E-W vul 
♦ J8743

-

-

pass

pass



♣ J92


2♣

pass

2♦

pass
2NT
(1)
pass

3NT
(2)
pass

♠ AQ8

N
♠ K76

all pass 
♥ AKJ3
W
E
♥ 10862


♦ AK2
S

♦ 9

Table B
♣ Q73


♣ K8654


West
North
East(A)
South


♠ J942

 
-


-

pass

pass

♥ Q95




2♣

pass

2♦

pass
♦ Q1065


2NT(1)
pass

3♣
(2)
pass

♣ A10




3♥



pass

4♥

all pass

Table A:
(1)
22-24 balanced

(2)
What did you bid with this East hand A in this week’s quiz? It looks like four players got this wrong and bid 3NT here. 
Table B:
(2)
This is the answer to question A. It is normally best to look for the 4-4 major suit fit, and it is imperative if you have a singleton.
And what happened? 4♥+1 twice, 3NT+1 three times, 4NT-2.
The bottom lines:

· ‘Everybody’ plays Stayman and transfers over 1NT, and most also play them over 2NT (or 2♣ - 2♦ - 2NT).
That terrible 4333 shape



Board 1 from Friday 1st April

Dealer:
♠ J963



Table A
West
♥ A8

West(C)
North
East

South
E-W vul 
♦ QJ9

1♣
(1)
pass

1♥

pass



♣ QJ109


1♠

pass

3NT

all pass
all pass
♠ AKQ8

N
♠ 2

 
♥ K74
W
E
♥ Q1063

Table B
♦ 1082
S

♦ AK65

West(C)
North
East(D)
South

♣ 976


♣ A543


pass
(1)
pass

1♣

pass


♠ 10754

 
1♠


pass

1NT

pass
♥ J952




2NT
(2)
pass

pass
(3)
pass
♦ 743



♣ K2






Table A:
(1)
What did you open with this West Hand C in this week’s quiz? All but one player chose to open this hand.
Table B:
(1)
But this is my answer to question C. Deduct a point for the 4333 shape and this hand is not worth an opening bid in 1st or 2nd seat… 

(2)
… and the auction has not improved West’s hand and so he just invites game.

(3)
What did you bid with this East Hand D in this week’s quiz? A singleton in partner’s suit is not good and this pass is clearly correct
And what happened? It looks like just the one player deducted a point for the 4333 shape, scoring a top for partner making 2NT=. Everybody else went down in game, that is automatic to reach if West opens, apart from a beginner who somehow stopped in 1NT and made exactly.
The bottom lines:

· Deduct a point for the terrible 4333 type shape. 

· Of course I am fully aware that most players will open Hand C, perhaps because of the ‘quick tricks’ and lack of quacks, perhaps because they consider AKQX to be a great 9 points; but then they will go down in a hopeless game when partner bids quite correctly and presumably think themselves unlucky. 

· Note that AKQx is not a great nine points in NoTrumps. It is quite likely to only make the same number of tricks as KQJ10 which many consider to be just six points.

· A combined 25 points is usually enough for 3NT, but not with one hand 4333 and no long suit to develop.

Natural, 4th suit or what?



Board 23 from Monday 28th March
Dealer:
♠ 7432



Table A
South
♥ AQ2

West

North
East(B)
South
N-S vul 
♦ 1076

-

-

-

pass


♣ A82


1♣

pass

1♦

pass
1♥

pass

1♠
(1)
pass
♠ AK9

N
♠ 1076

all pass 
♥ 10853
W
E
♥ K76


♦ Q

S

♦ KJ942

Table B
♣ K9653


♣ 104


West
North
East(B)
South

♠ QJ8

 
-


-

-

pass

♥ J94




1♣

pass

1♦

pass
♦ A853


1♥

pass

1NT
(1)
all pass
♣ QJ4


Table A:
(1)
What did you bid with this East hand B in this week’s quiz? 1♠ here is normally played as natural and forcing although you can play it as 4th suit forcing or ambiguous (either natural or 4th suit) if you wish but this would need to be alerted and this hand is clearly not strong enough for such a treatment. In short, this bid is unacceptable at our club as it shows a 4-card suit and not xxx.
Table B:
(1)
This is the obvious answer to question B.
And what happened? South at Table B complained to be at the end of the session. North (One of the club’s very top players) called the bid a semi-psyche. All four of the players were very experienced. E-W got a good score (1NT +1) and I concurred with N-S’s objection and adjusted the result to 1NT=.
The bottom lines:

· Sometimes it is necessary to invent a non-existent suit with just three cards, this very often is a minor suit at the two level when you wish to make a forcing bid, and this is quite acceptable. But this 1♠ bid here is different – the hand is not strong and I cannot see the point of the bid unless it is meant to deceive, especially when there is a very clear alternative?
· (Semi) psyches are frowned upon at our club. It will be overlooked if made by a beginner, but not by a very experienced player who should know better.
Dave’s Column
West
East


West
North

East

South
♠ 52
♠ AKJ74

-

-

1♠

pass
♥ AK543
♥ 972

2♥

2NT
(1)
3♥

pass
♦ A62
♦ 85
4♥


all pass
♣ Q72
♣ A63
You are West, declarer in 4♥. North’s 2NT bid at (1) showed at least 5-5 in the minors and he  leads the ♦K. You duck once and win the ♦ continuation with your ♦A, draw two rounds of trumps with North discarding a ♣ on the second round. How do you continue?
Dave’s Column Answer




Board 10 from Wednesday 30th March
Dealer:
♠ 3



Book Bidding
East
♥ 6

West

North
East

South
both vul 
♦ KQJ104

-


-

1♠

pass

♣ KJ9854


2♥

2NT
(1)
3♥

pass
4♥

all pass
♠ 52
N
♠ AKJ74


♥ AK543
W
E
♥ 972

♦ A62
S
♦ 85

♣ Q72


♣ A63
(1)
 UNT, showing at least 5-5 in the minor.

♠ Q10986

 
 
♥ QJ108


 
♦ 973
 



♣ 10
North leads the ♦K. You duck once and win the ♦ continuation with your ♦A, draw two rounds of trumps, North discarding a ♣ on the second round. How should West continue?
You seem to have numerous losers: two ♥’s, a ♦’s and two ♣’s. But that does not matter if you take ten tricks. At trick five, play a ♠ to dummy’s ♠K and cash the ♠A and ruff a ♠ in your hand. Trump a ♦ in dummy and ruff the last ♠.
How many tricks have you taken? Two ♠’s, two ♥’s, one ♦, one ♣ three ♠ ruffs in hand and one ♦ ruff on table – wow, ten!

And what happened at the Pattaya bridge club? 4♥=, 4♥-2, and a few other spurious contracts.
Dave’s  2nd Column



North
South
West

North
East

South

♠ Q10
♠ A42
-


-


1♥

pass
♥ 432
♥ A8765
2♣

pass


3♣

pass
♦ 10976
♦ A
3♥

pass


4♥

all pass.
♣ AKJ10
♣ Q876
You are South, declarer in 4♥. If West leads a ♠ you make the contract with an eventual ♠ ruff in dummy. But West leads the ♥10, plan the play.

Dave’s 2nd Column Answer

Board 11 from Wednesday 30th March
Dealer:
♠ Q10



Book bidding
South
♥ 432

West

North
East

South
Love all 
♦ 10976

-


-

-

1♥

♣ AKJ10


pass

2♣

pass

3♣
pass

3♥

pass

4♥
♠ 98653
N
♠ KJ7

all pass
♥ 109
W
E
♥ KQJ


♦ K432
S
♦ QJ85

♣ 54


♣ 932



♠ A42



♥ A8765

 If West leads a ♠ you make the contract with an eventual 
♦ A
 ♠ ruff in dummy. But West leads the ♥10, plan the play.
♣ Q876




South played low to the first trump and won the next trump and then cashed the ♦A. South then got to dummy three times with high ♣’s to ruff ♦’s in his hand. He then led a good ♣ at the tenth trick. East refused to ruff, but at trick eleven the last trump was led from dummy. East won and had to lead a ♠ from the ♠K. South played low from hand and won the last two tricks.
What a tough game bridge is. A ♠ opening lead lets declarer make the contract easily. The ‘killing’ trump lead gives him a chance at an overtrick. East could hold the contract to ten tricks by shifting to a ♣ at trick two. That play would be too tough for me.

And what happened at the Pattaya bridge club? 4♥= three times, 2♥+2 twice and 2♥+1.
Bidding Quiz Answers

Hand A:
3♣, Stayman. It is imperative to look for a possible 4-4 ♥ fit when you have a singleton. And if you play Puppet Stayman over 2NT (as Paul Q does) that’s even better as you are also able to uncover a 5-3 ♠ fit if there is one.

Hand B:
1NT. This is obvious isn’t it? But one very experienced player chose 1♠ which was later explained by him as “either natural or 4th suit forcing”. Now this treatment is acceptable (if alerted) but is not standard and is a poor bid with this weakish hand.
Hand C:
Pass. Deduct a point for the 4333 shape and, with insufficient compensation from intermediates, this hand is not worth an opening bid.
Hand D:
(a)
1NT, with this shape its fine to bid 1NT with a singleton in partner’s suit

(b)
Pass. This is a poor 13 count with a singleton in partner’s suit (not good).

Bidding Sequence Quiz

E
2♣
pass
2♦
pass

3♣ here is Stayman (some play Puppet Stayman). Most

2NT
pass
3♣



play Stayman and transfers over 2NT here and opening 2NT
F
1♥
pass
1♠
pass

I play this 4♥ as fast arrival, so weakish, as the sequence is 


3♦
pass
4♥


already game forcing.
G
1♠
pass
2♥
2NT


This must be unusual – opponents have shown 23+ points.
H
1♠
pass
1♠
1NT


Some play this as natural, I play it as unusual (sandwich NT) 
J
1♣
1♠
dbl


This is up to you, I promise only ♥’s and nothing about ♦’s.
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